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1. Central bank intervention

(a) Explain how the central bank intervenes on the foreign exchange market and the

differences between sterilized and non-sterilized interventions.

(b) What are the main arguments for and against central bank intervention including

the practice of using secret interventions.

(¢) Compare and contrast the two major models of central bank intervention, the port-
folio balance channel and the signaling channel.

(d) Are central bank interventions effective? Summarize the empirical evidence.

2. Micro based macro model
(a) Consider the following two-country (the US and the euro area) micro based macro
model

st =B [sepa] + 7 — 1 — 0 (1)
EP (Feyi—reyi) = (1492 EL (Apriari— Aperisd) +WES (Geri—yers) — =B err (2)
et =St + Dt —pt (3)
where notation is standard. Explain the underlying assumptions and the implications

of the equations above.

(b) Show that the nominal exchange rate (ruling out bubbles) can be written as

st = (P — 1) + E? Z pift_,_i — ]EtD Z pi(St_H- (4)
i=1 i=0
where
ft = (1 + 7ﬂ> (AﬁtJrl - Athrl) + Ty (:l)t — ’yt) + 1;pp (pt — ﬁt) . (5)

Explain the implications of these relations.
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Assume that the aggregate demand for foreign currency is given by
1 =N
o = / apdn = as(Ey sp41 — st + 7 — 1) + Iy (6)
0

and the risk sharing condition that EPa; = 0. Show that the risk premium can be

written as
6 =EP |s¢, —Lh 7
t = 5 [St41 T o.M (7)
==n
where sy, = sp41 — Ey 5441

[Hint: Use the identity E?8t+1 =EPsy 1 +EP (E? Sgr1 — st+1).] Discuss the impli-

cations of the risk premium relation.

Combine equations (4), (5) and (7) to show that
i . iy . i .
sp=(F =) +ELY p'feri+ ZEP Y plhiyi — %E? > sty (8)
i=1 =0 i=1

Explain how the model above differs from a standard macro-based exchange rate
model.

The micro structure literature emphasizes the role played by order flows in deter-
mining the spot exchange rate. Explain how order flows affect the exchange rate in
the model above.

Summarize the empirical evidence on order flows as a determinant of the current
state of the economy.



